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413 Activity Sheet  ©Digi-Block 

 

It’s a Match! 
 
Problems We chose these related problems: 

 
 
Example: 

 
3 X 4 = 12    
 
3 groups of 4 blocks 
 is 12 blocks 

 

 
 
Example:       Example: 

 
3 x       4 tens       =       12 tens        3 X   40   = 120   
 
3 groups of 4 blocks-of-10 is 12 blocks-of-10   3 groups of 40 is 120 
 

 
 
 
4 x 2 = ______ 
 
 

 
 
 
4 X ______________ = ______________  4 X _______ = _______ 
 

 
 
 
5 x 3 = ______ 
 
 

 
 
 
5 X ______________ = ______________  5 X _______ = _______ 
 

 
 
 
6 x 4 = ______ 
 
 

 
 
 
6 X ______________ = ______________  6 X _______ = _______ 
 

 
 
 
7 x 3 = ______ 
 
 

 
 
 
7 X ______________ = ______________  7 X _______ = _______ 
 

 
Challenge:  Predict these answers.  

 
 
 

4 X 500 = ______  6 x 30 = ______  7 x 40 = ______ 
 

 
 


